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Double Tag

* signal side: 1= —» yu-

 tag side: 7+
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Fvent Selection

* Good charged tracks * P_mu,sig in [0.45, 1]GeV
* nGood = 2, nCharge = 0 « E_tag_ visible <= 1.2 GeV

* Good photons * I\/lmiss,leptonicz in [0-45’ 28] GeV?
* nGamma >= 1 I\/lmiss,hadronicz <=1 Ge\/2

* Reconstruct 10 (see next page)

* # of gamma left = 1 (signal
gamma)

* E_gamma,sig in [1.2, 1.65]GeV

* -0.9 <= cosbyu 4, <= -0.37



Reconstruct 1t0
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Result
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decay tree

rowNo (decay initial-final states) iDcyTr | iDcyIFSts | nEtrs | nCEtrs
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* Belle, Physics Letters B 666 (2008)
16-22

* similar problem
* fit data with MC shape to get N



